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Important Instructions

Write your answers on this Question Paper only from (1), (2), (3) and (4). No separate Answer Sheet is supplied
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. HFE TR TS 1. This question booklet contains 36 pages.

2. This question paper comprises four parts. Make
sure you have all the four Parts |, 11, Il} and IV
with you. See that Part |, Il and 11l contain fifty
questions each and Part [V contains 25

LILH = Ve Foaed maml lalll § v=m
TV Wi T E SR A IV E 25 95 E

questions,

3. I 175 ¥ S SW 3. Answer all the 175 questions.

4. WEE-TH W WG % 1670 =R HIEw 39 (1), (2), (3) 4. Onthe Question Paper for every question, there
3T (4) few T £ | Fee v 9 ¥ o9 = T are four options, i.e., (1). (2). (3) and (4). Write
=W T 30w O s W § fau| Saw the serial number of the answer that you think
I I LR S S - e p— corre;! in thE box given at the r:gr_lt side. Use

: i only ink or Ball point pen. Pencils are not
IUET A S E | allowed

Example : Which one among the following is a
supporter of combustion :

3TV ; a8 § T s S - -

(1) == TG (1) Carbon dioxide
(2) Oxygen

(3) =mEq (3) Carbon
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Part - |

1. Abullet fired vertically upwards reaches a height
of 50 m and then falls back to the same place,

Its displacement is :

T | A TR (A SeArer fom F ) e 7 v e
50 M 1 ST aF Tg Al € ST 1T SHI T4 W ATH
N W E W H A S A1 | T WA e ¥

(1) 100m (1) 100m
(2) som (2) 50m
(3) 75m (3) 75m
4) 13 b(;f zero

. Fa=-Tirs urgadl, firm T =8 & 2 T ST

() Two speres of the same diameter

but of different

30 kg 741 20 kg &, TR UF 1Y TS © 59% | PR

W@ T | W 4 Y W 9aE ¥ 5 m S E, 39 594

materials have masses of 30 kg and 20 kg. They
are dropped from the same height simultaneously.
At a distance of 5 m from the ground, they will have

T s b AR

18 i'—’;:. E%4

I :

(1) ™0 |9F &M
(2) FEm=EE T

(3) T S wHA B

(4) =TI Son TEE T

. U U S 9 ORI H YHdal g3 a6 Wl

(1) 3nfeREmE
(o) =ww e &

@) T feREa

(4) T i B

. Tt 7 & A 0 SN W SEE! A H

it 91 & 909T € | 39 a5 J 9 fwa € 7
1) 1ms"

@) 2ms"

(38) 3ms™' -

(4) 4ms

| Fretaran 3§ fom 2 el o g a9 =1 30 91 el

T 7
(1) TO-593 1% =1 Favra 4

(2) Z0-F77 TTF T ARG AE 4

(3) =rE-T9a ATE F T &

the same :
\g}éceieration

(2) momentum
(3) kinetic energy x
(4) potentialenergy ¥

3. Abody moving in a circle with a constant speed will

have :

(1) constant velocity
constant acceleration

(3) constant retardation

(4) variable acceleration

4, The momentum of a body is numerically equal to
its kinetic energy. What is its speed ?

(1) 1ms™ 7
= |
\}24"75“ =g
(3) 3ms™ 2=V
(4) 4ms™’

5. Which of the following gives the distance travelled

by a body :

(1) slope of distance-time curve

(2) Area under distance time curve

. (3 Slopeof speed—time curve
Jﬁ{ Area under speed-lime curve

e i AR

c=d

-
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@ A scissors with one blade broken cannot cut a
piece of paper. It can be explained on :

\(})/Newlon's first law of motion

(2) Second lawof motion

6. Afe T T 2 WiEl H B v e 72 o A A w6
T TR T | TR T T R s i 7
(1) = o nfn =@ e fem
(2) Tiw T A

(3) T = T fem «3) Third law of motion

(4) Laws of friction J

@ If the length of a secandspendulum at two pianets
are in the ratio of 2 : 3, the acceleration due to

gravity in these planets will be in the ratio ; 9 2

—

(4) =™ T T

7, TS BT F S s T ST 2 ¢ 3

*" TI [fT"T*I'"TF"TI"? 170] =l .:1’ TG e

(1) 2:3 W23 3
@) Vo3 | @ v2:/8
(4) Va:a2 AMANS MATHS BLOGS.COM.  (4) /3 |5 r G}

@P ball is allowed to tall freely from the roof of a
Gall of the same

S 1 R s o B 1 e e el e e

TR T TR R e w2 misst T S st lower. Simultaneously another

IR WA 10 T e R o o el | e i mass 16 projected horizontally from the same
i H e H 2 IR TR T, ) PR R pomt with a speed of 2 ma'. If the time taken by

the first ball to strike the ground is 2 sec.. that
taken by the another will be -

PRI AT 7,

e = (M 18 ———d

2= 5 ) l o \."-.

. 2 = 2 -~ \
28 (3) 28 \

(3) ,
4) 55 f 4 38

0. Tt w T A % “m 750N ® 13k D,, D, D, 9. The weight of an object in air is 750 N. Its weight
A F 7E R T W W T e WS UR HA: when completely immersed in liquids of densities
650 N, 550 N e GODN?‘T?ITH iRk D,. D, and D, is 650 N, 550 N and 600 N

TiA-H T S e/ respeclively. Then which of the following is correct 7

(1) D,>D, =D,

<

(1) D,>D,>D,

(2) D,>Dy>Dy 2 Dy>D, =D,

\)’Z(D_n‘*/D:. >D,

(3) Dy3>D, =Dy

|

(4) D:-"‘Dr D,

THEEES 5 F 750 == Al asis @ Sl &
-

ST 9T -:';'.th 1 S AT 2

(1) & | 7 e TH 9 0§ wa o o T
T2 FA A ;m—rrrn

(2) TIE-TT2 T W W TaT W A GFG £

(3) mwn:m o A1 € i T 99 F aeEa g
it’nlf‘,

(4) T 9 WA &

féh D:_, - [). - D:f 1 I

Which of the foliowing can NOT be explained on

Archimedes' Principle ?

(1) Aniron ship floals on water while a small iron
nail does not

(2) Small insects can walk on the surface of
water
An egg sink in pure water but floats in the

salt solution

(4) Ice floats on water
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n. m%&tﬁ%ﬂwﬁﬁh?ﬁ%am(mﬁ)?ﬁi
T AT o Farepe WM E | A g8 T e o T
() = v S € T e, T e e

(9) TET qZ T S R e 4S9 /e W
=
(3) e e S AT AN W SHe Hae 9 ern

(4) e e A Ee e, ey A
e W S A
12, Wﬂu@amzmﬁmﬁmmﬁ
T ST A9 T ST T i 0w T e
e 1= @i 250°C T T F 2T T F o
o= R TR (T S T R S AT e ST B A
it TEA ™ ?

(1) JIER T2
(2) e

(3 ==

(4) = TEE T N

e oz S R TeEiE F40° WA T

DA0° Feren T E | 50°C ¥ WY T feTC W GHHIS W

(1) 170°

(2) 100°

(3) 1207

(4) 140°

1. 7= Aden B s 150°C a1 50°C T
e U T Teea B A (O T € A 30 HAA
T A A

=l

(7]

1 ﬁfﬂwmmm?wmsﬁm
(2) Tarer g0 S e § 7% W
(3) e BRI S THE F R 9g
(4) T R S B T F FH
)5, 50g W a4 504 Wik &) THE FE S wen &

T

() T A R g ST e

(2) i T E A W AU Fhw T

(3) i A H A gt v

(4) 2 5 T H Fhe S Wi ardl
W FAT O

If a straight bimatallic strip made of iron and copper
is heated, then :
(1) the stnp will remain straight but will become

longer
(2) the strip will bend with iron on the convex
side
(3)-the strip will bend with copper on the convex
side

(4) the iron part of the strip will remain
straight and copper part will bend

1@;\ circular plate, a solid cube and a solid sphere
of the same metal have the same mass and are
equally polished. All of them are heated to about
250°C and then left to cool. Which will cool slowest -
tothe room temperature ?

,m/ the circular plate éﬂ

2) the sphere 4"
T L

¢
(3) thecube v

(4) all will cool at the same rate
@ In a certain thermometer the ice point is marked

40° and the steam point 240°. What will be its reading

correspondingto 50°C ?

(1) 170°

(2) 100°

(3) 120°

Wy a0°

(@ Two bodies A and B at 150°C and 50°C
respectively are enclosed in an evacuated
insulated container. Then after some time the
temperature of A will :

(1) decrease because of loss of heat by radiation

(2) increase because of gain of heat by radiation

(3) increase because of heat gain by convection

JA{ decrease because of heat loss
by convection

@. 50q of waterand 50g of mercury are giventhe same
amount of heat, then the rise intemperature :

(1) of water will be more than that of mercu{'y
(2) of mercury will be more than that of water
(3) of both will be same

(4) of both will depend upon
their initial temperatures
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(1) 100°C 771 am 7=
(2) 100°C 77 1 7w &y
(3) 100°C 57 1 7/ wim

(4) 75 9T T, T T A S

AR G S T ' T e
. Wﬁmq’tmqmwa@mmuﬁ;
7T, AT

(1) u<f
(2) u>f
(3) u=f

'.‘_’41 u=2f
A T S A FREE o0 (5 S mn
ﬂvwwﬂmmamnwm
(1) u=f

(2) u<f

(3) u=2f"

(4) v 21, ‘
THIN ST @ W] W DI 7 A A W i

(1) ===
(2) srema

(3) Tm=aw

(4) =@ = 3T

o ]

(3) u f

20. The image of an object formed by a mirror is

@lf two liquids of different masses m, and m, and

attemperatures t, and t . respectively, are mixed
together, the final lemperature of the mixture will -

A=
(1) be equalto | 1; ’]
(2) be(t, +1)
(3) be (t,-t)or =1)

(4) depend uponthe spacific heat
capacities of the two liquids.

o]

17. Which will melt the maximum quantity of 1ce ?

(1) 1gof water at 100°C
(2) 1gofairat 100°C

M!g of steam at 100°C

(4) None. All will melt the same
quantity of ice

]

18. If U'is the distance of an object placed infront of

aconcave mirror of focal length ' then the image
of the object will be srect and magnifisc (o

enlarged) if ;

\[}I/u<.‘ L -
@) usf
@ u=f
(@) u="2f

—

19. If vis the object distance and fthe focal length of

aconvex lens, then to obtain a real and diminished
Image, we should have :

(1) u=f
2 u<f >

—

always virtual and diminished irrespective of the
position of the object infront of it. The mirror must

be :
convex
(2) concave
(3) plane
(4) eitherplane Or convex

hussid]




21. T A wH B B gl 1 # A ¥ 3R 3w
T 2f T W U I @ W @ 39w wiarea
oo ;

(1) =t 3l S ¥ a9 % 76
(2) 3MwTET A WES H g ¥ FE
(3) I=afam T IR AT
(4) svET I IR o=

22. AT TF WA= w1 Hiara= o a9 e w6

STTE! AET :

(1) TF FFaa TH

(2) Tw = wiw

(3) = Iua THw

(4) vF ITEAT THO W T I9T o9

23, Tt Soae o9M & R 1] @ 3R SHE Fiaie= &
Tr= Fwi g 20em ¥ |9 E F I 50 Som
T

(1} 10em.
(2) 20cm.
(3) 30cm.

(4) 4Dcm. . l
e = 30° B @ STIEE w0 e

L
£

4% AN
VA

(2) 30° & A
(3) 30° % i
(4) 90° _
25, Trefean 5 § waw e omafe #t @i = g7 e
%:
(1) 2500Hz.
(2) 25000 Hz.
(3) 10 Hz.
(4) 35000 Hz.
26. T SR e U F @ 69 W farem E a 39 e
wrasat: 717 H5s F IveEm T o0l § | 9% = =
=1 330 m/s B, @ FYH TEAE B
(1) (330x3) m.
(2) (330x 2) m.

3
3) (330x 7)m

(4) 330m.

.

.COM
21. The focal length of a concave lens is f'cm. If an
object is placed at a distance of ‘2f' from it, the
image formed will be :
Maf and equal in size to the object
(2) virtual and eqgual in size lo the object
(3) realand diminished
(4) virtual and diminished. D
22, If the image of a candle is to be formed on the
wall of a room, we will have to use a :

(1) plane mirror
(2) concave lens
(8) convex mirror

\/Hﬂ:oncave mirror or a convex Iens.l

23. Anobject is placed infront of a plane mirror such
that the distance between the object and its image
Is 20 cm. If the object is moved 5 cm further
away from the mirror, the distance between the

objegt and the image will become :
&b 10em.

(2) cm.
30 cm.

(4) 40 cm. '

24. A ray of light passes from glass to water. If the
angle of incidence is 30°, the angle of refraction

in water will be :
1) ane
sz less than 30°

(3) more than 30°
(4) 90°,

25. Which of the following sounds are audible to
human ear ? Sounds of frequency :
M 2500 Hz.
(2) 25000 Hz.
(3) 10Hz
(4) 35000 Hz.

’A man shouts at the mouth of a deep well and
hears the echo after 3 seconds. If the speed of

sound is 330 m/s, the depth of the well is :

(1) (330x 3) m. L5 X
(2) (330 x2) m.

bg)/(ssox =i
2

(4) 330m.




27. TR amai | R FEe 1Y = B0 ST

30,

an

(1) =
(2) Tor= (=)
(3) %=

.

(4) =

(1) =mm

(2) = (=)
(3) =77 (7w
(4)- = () ’:
(1) ™

(2) Wiz

(3) TeEs

]

(4) Tieas ! |

T (FeE ) A SR B UF TR st s £
T T W E T

(1) A smatvm v B smmdfm &

(2) 8 zmatm v A semafim &

(3) A&r BT F fayim amm #

(4) s Tt =it Homeems w2t
I F

(1) wr==
(2) Feire farvr

Q) sF=m =m

@. Which of the following metals are not attracted
by a magnet ?

{1} lron
Mm;
(3) Nickel

L]

&6‘(,0L=nrt
@1} he most suitable metal for making the core of

an electromagnet js -
‘.,H‘/I:m

(2] Stuel
(3) Copper
) Siver L]

@l. Magnetism of the earth was discoverad by

M) Gauss

ﬁ}ﬂ/ﬂle:'sle‘a!}

(8) Ampere

L]

30. Two balloons 4 and 3 altract each other wharn
placed close together. It shows that :

(4) Gilberi

(1) Aischarged and Bis uncharged
(2) Bischarged and A is uncharged
_\9\/! and 8 have unlike charges

(4) allthe above three options
are possible

[ ]

@ Which of the following particles are not deviated

by a magnetic fieid of a magnet ?
(1) protons
(&) cathode rays
(3) alpha particles
@ neutrons
32. The number of neutrons in 2351/ js:
(1) 48
@ 92

\(})’143

(4) 235

=]
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33. Which of the following has recenitly lost its status

TaMITEE ? as a planet ?

(1) Neptune

1 &VPIUIO

(3) F== \ ; y (3) Uranus
(4) == AMANS MATHS BLOGS.COM (4) Ceres
ST | STAa WA w Sy R T @ T @ To an astronaut, the outerspace (sky) appears :

TE ?

(1) == (1) blue

(2) vm (2) white

(3) wren (@ black

(4) 7= 7 ’:’ (4) redish D

FA-TI T FaH TSN € ) 35. Which of the following is the brightest planat ?

(1) =% (1) Mercury

2) = -\L?J/Venus

(3) 7= (3) Mars

(4) Fe=7ia !: (4) Jupiter {:
T T W S0 Wiy SHEm o % S g 36.
T A ¥ ACHAEI B E | 3 8 3irE wray

¥ Tom T R T 39 WeAte W 180° AT W

AT ST ﬁmm A1 S5 ooy ?:I ST

The electrical resistance of a wire is directly
proportional to its length and inversely proportional
to its thickness. If a long wire of resistance
8 ohm is bent at 180° at its mid point and the two
parts are twisted fogether, then the resistance of

the wire will be ;

(1) s 379 (1) 8ohm

(2) 4 3\ (2) 4ohm

(3) 23\ | Mohm

(4) 1= . : (4) 10ohm (:I

37. The filaments of an electric bulbs are made of
tungston. If tungston filament is replaced by a
copper filament, the bulb will ;

T T T A (FW) G 9, 6w

(1) s W= T (1) give more light

(2) give less light

™ T TI="10Y =
|\Z] =4 ATie [-£41]

(8) 7= =] & _ (3) give no light |
1 ‘9}’ fuse immediately ‘

(4) TT= T © S




a8 WWTWTWWWW?MT{MW
(1) =it

(2) ==

(3) wit=n

(4) Ten

39, AT ST feRHT Tiea g () F e
ATFTTL (1 ST ) WGT] Tl W ST S R

(1) == stiivrems: = prm
(2) =7 ativievas i FE T
(3) =l ST = R

(4) =Tt At ) R T E

A0, TIEUR B I R A TR v At ahia
CF £ 11 | B

(1) =erm Feme
(2) =i ewem
(3) =i g

L]

1. A m e w5 e w5 et e e
S h T Sa W fretaten e S few w
FEE Tetost st stfuepas gt 7

(1) ==

(4) #r= 7=

(2) =™

(8) FF=ia W

(@) fF=t T T wTEE
1 T ¢ ¥ 1A wem U 0 e v snen w6
A A T W A T = e agr 9 2w 1

I
ra

(1) 2ra=m3mnr

3
(2) ) ragr2rr

3
(3) raen —2’:'”

@) w=aw

10

. If a yellow rose is seen in red light, it will
appear :

(1) orange
vel red

(3) yellow

(4) black

39. If you want to increase the magnification (or
magnifying power) of an astronomical telescope
you will have 1o increase :

(1} the aperture of the objectjve
2" the focal length of the objective

(3) the aperture of the eye piece =~ ————
(4) the focal length of the eye piece 1

40. Which of the following optical instrument! forms a
realimage of an abject ?

(1) asimple microscope
(2) a compound microscope
{3 an astronomical telescope

V(A‘}/human aye l :‘

@!f a body of mass mis raised to the same height
h on different planets, where will it have the
maximum potential energy ?

@son the Earth
(2) orfSaturn
\ja/:: Jupiter
(4) None of them, it will have the same l
potential energy on all planets .
42. A point is marked on the rim of radius r of a
bicycle wheel when the wheel makes one full and

one half revolution, the displacement and the
distance travelled by the mark (from its original

posttion) are respectively :
VM/.?C:(;nd 3xr

3
(2) > rand2=nr

-

(8) rand %nr

(4) zeroand =r




43, With what speed should a body travel so that its
energy is equal to the energy of the same body
placed at a height of 20 m above the surface of

the earth ? (g = 10 m/s?)

(1) 5mis Y \ i (1) 5mis
\\\ p 200

(2) 10m/s g

LV
g

_ waﬁtrﬁwnnﬁraﬂﬁrmwm Exl
a‘ﬁﬂm:20m3ﬂrwmﬂﬂmwr~ﬂmﬁma‘
Tz 9 2 (g = 10 m/s?)

(2) 10m/s

e

() 15ms Gl ASHE

(4) 20 m/s \yz/zo m/s

44 The distance between two stations A and B Is
120 km. A car travels from A to B with a speed of
60 km/hour and comes back from B to A with a
speed of 40 km/hour. The difference in average
speed and velocity of the car during the journey is :

a3, =1 = AHBTW‘—T?{UT"{JW( | U I
A 5B =1 60km. o ¥ = 9 | e, Ba AT
40 km. HIHW"TW‘RWW?IW’{”WW
mn’n—maﬁamamamaﬂnaﬁrz

T
(1) 50 km/==1 (1) 50 km/hour 40
Y
. o —_—
(2) 48 km/Ha J2 48 km/hour i e
; ” 20
s A T

r — o
(3) 45 km/== (3) 45 km/hour 2.0}
- (4) 55 km/hour ::!

If snow falls in hilly areas, when is it the coldest ?

45,
7
P (1) just before the snow fall
'\." = T <™ ' G
(2) @ = s = (2) during the snow fall
(3) 7% mﬂ F He ﬂ after the snow fall
(4) w4 T foT T T l (4) after allthe snow has melted
6, A T S =r—’r S+ 1 R AR WA 1 46, Aman can safely fiedown onacotofa thin plank of
e e o e S R e wood without breaking it. But, the plank breaks when
the man stands on it. It is because then :

qo ;C'\iﬂ?ﬂ = | 29 A e © r. =
(1) The thrustincreases and hence the pressure

(1) T G rm?ﬂ > 3 T W‘"E?T'ﬁ'? T _
increases "

(2) i A T % T, U@ @€ 9 © The thrust remains the same but pressure

increases \

(3) wmire =w @ ST € f A A S % (3) Thrust decreasesbut pressureincreases

(4) == =E wA T f?ﬁ_‘l,. yUiTE T \ (4) Pressure decreases but thrust

AT AE M increases and breaks the plank




FSTATE T | R FH- T T (0 o)

=
i

(1) Trexte = wm i s | a1fe v

(2) 37T =T e T R T e

(3) =T TR T N T W -1 W ST

(4) == AT ST R ST R T [:

T T e | R T watt (e e )

=N 2

(1) =rE=r=i 1A

(P =Fem A

(3) =T e |
—

™1 T": b 1 R Bt o e A
e e “\q, T (m) o4 T {(s) i3
W H m?ﬂmm 2

(1) =m 7.

(1) kg. mé/s?
2 kq me/s*

(3} kg. m/s

e ]

(4) kg. mYs

0. TE A ST ST W60 em.  aiuE 7@ T e

W&ﬁ'ﬁmﬁ%ﬁmrw' w:m" 9 F AE A
TR I F T (A0 S 68 FE

(1) 7= 7= aen 5= =18
(2) %= =iz aun saas &

(3) 9 Th= awn AwTHER w9

(4) T 0= 7971 39 o

éﬁ-"& = -" Il d =g

12

@}'_ Which statement is NOT correct ?

(1) static friction is always more than the dynamic
friction

(2) rolling friction is less than static frict ion™_~

Miction 15 a self adjusting force -

(4} ball beanngs eliminate friction D

@A dry cell 1sa modified form of -

(1) aleclanche cell

(2 Diemniesl o)

mfnﬂafr’ call

(4) a Bution cell

s

49. The S.I. units of mass, length and time are
kilogram (kg). metre {m) and second (s)
respectively, the unit of power in this system will
be :

‘ Ifﬂmlii )
1) kg. m¥s?
(1) kg. m*s <
Q}/kg. ms” :

(3) kg. mis

(4) kg. m¥s

50. A person cannot clearly see an objects placad
beyond a distance of 60 cm. from his eye. The
name of the defect of his vision and the type of
lens used for its correction are respectivaly :

(1) Myopia and convex lens

\Myopia and concave lens

(3) Presbiopia and cylindrical lens

(4) Hypermetropia and convex lens ‘




I ik

i

o -l

13

Part-1l
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CHEMISTRY

i. 1200%. 3. 8 3@ 9 ot :
(1) =m==R 3
2) HFicags
(3) g

(4) =

TEeT=rE =0 91 :

a

(1) UF TR S [ T T H WANT S S e

(2) 378 H2H T U TEE

{3) e 5 aTiie T9EeT (alchernists ) g0 41

[ ]

TEE F IO0EA A WA T A Wi o

(4) U= Yoo forseR WA WA &
T e e

(1) e

(2) TEETeETET

(3) TrEEA

(4) TEF=TE
=g ﬂl’g’t{’g s
(1) =gsii = g

(2) wrie= T

(3) @

(4) sorE
ek e G e At o e R e R e e e o
% ‘:'flaEI:

(1) it farerdi gra
(2) TETEre i g

@) TR

E'Ji'il;,-'é(_«qr“amaaﬁzf i ;.

1. The metal known as early as 1200 B.C. was :
(1) Sodium
(2) Calcium
(8) Aluminium

af o

2. The philospher’s stone was :

(1) astone used as a jewel
(2) a piece of igneous rock

\3Y2 substance alchemists sougtit

(4) astone used in building temples

3. The process used in making rubber is :
(1) dehydration

(2) hydrogenation

(3) hydration

Jﬂj/vulcanization

4. Alloys are :

Mnixlure of metals

(2) metallic elemenis

(3) 'compounds

-

5. Achemical compound may be separated into its

(4) Cataiysts

elements only by :

(1) physical methods

Memical methods

(3) filtration

i) 'égg.,‘lk;;,_ issolving
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6. Fer T T A § wve v am faifvm 6. The staternent “A chemical compound always
s A v, e ‘ contains the elements with the same ratio of
atoms of each”, is Known as the law of -
(1) =ram =1 f7em | (1) Boyle
(2) == 7w e | : (2) Charles
(3) THIv=R I w= A \J;yﬂgf.mife composition
(4) T4 7w A e ‘: (4) conservation of matter ‘
7. T U i e sen e w7 7. A chemical reaction in which heat and light are
¥, e produced is called
(1) “Tem (1) reduction
(2) =T (2) combination
(3) Temsm (3] decomposition
TR
4) v ‘ ’ (47 combustion j
& TETEEl PAT T @Fish use
(1) =& 5 HAme STaETEE ﬁ)/:o?ﬁbmed oxvgen in water
(2) v & am (2) the whole water molecule
(3) =T T Helt Ty st . (3) free dissolved oxygen in water
(4) ST & TR W e N I (4) air at the surface of water
O, AT T e T A e ' 4. Chlorine is considered an element because
’ chlorine -
(1) == o w T (1) isagasat room temperature
(2) =¥ faeg & (2) dissolves in water
(3) U= # TR F WS | W T ﬁs one kind of atoms only
(4) T sEETEE © l:, (4) is an oxidising agent
10. 7ot T = VA T s E 10. Crude petroleum is refined by :
(1) guF=r v 510 ‘ (1) separating funnel
(2) Tr=eiEw g (2) crystallisation
(3) ==aa W (3) distillation
(4) moft s 3R J})_/fractional distillation



75

13.

1 e e A
(1) 6.022 x 102377
(2) 6.022 x 10%97HT

(8) 2 5y
(4) 237
T A ¥ ST YA FEET IO w6 | A E,
Fit :

(1) el & W] SEqHA ST B
(2) & TR & (HEV B0 €

(@) = TS TEY I &

(4) =it T SR T €
=

Cozémﬂﬁ'mmﬁﬁm 40

(1) 2

(2) 44

(3) 66

(4) 88

= STt & STER, 4 TW W | (CH,) &
™z ¥ fo smavas SiEEem w1 A RO
CH,(g) +20,(g) — CO,(g) + 2H,0(I)

(1) 4g
(2) 8g
(3) 16g,

(4) 329

[femz M z=m: C=12,H=1,0=16]

. STP® 11.2L CO, 31 7o &M :

(1) 80g
(2) 44g

(3) 329

@) 229
[fem & wr 5= : C =12, 0= 16]

11. 1 mole of Nitrogen gas contains :
.\}})’ 6.022 x 10 molecules

(2) 6.022 x 10* atoms

(3) 2atoms

(4) 2 molecules l

12. The relative atomic masses of many elements
are not whole numbers because :

\ﬁ( elements have fractional atomic masses

(2) elements are mixtures of isotopes

(3) elements arenot pure substances

(4) all elements are not solids
13. The total number of electrons in one molecule of
CO,is:
Y 22
(2) 44
(3) 66
(4) 88

%4. The mass of oxygen reguired to burn 4 g of natural
gas (CH,) completely according 1o the reaction
CiH‘(g) +20,(g) — CO,(g) +2H,0 (I) is:

(1) 4g i

@) 8g Mo b
sz 169

(4) 329 :

[Given Atomic mass: C =12, H=1, O = 16].

15, The mass of 11.2 L of CO, at STP would be :
(1) 80g
(2) 44g
(3) 329

\ygzg 1= o

Given Atomic mass:C=12,0=16} = .
iGleg =205 S b el

i,

2]
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3.

A ST & W e A, B A C # mww wesen,
STIRTSTT e G2 ST SE AT 6 %6 0 &, 39759 5o
1T ATW LI HE T -

(1) A<B<C
(2) B<C<A
(3) A<C<B
4) C<A<B ‘ ,
TIETY S TV R T
(1) WM UE Feea W

(2) W, =i ve yere
(3) =1z e v

—

—

(4) YR v EEE
TR WA R = eew & i v e

™

(2) wifegi
(3) T

(4) =gz (:

T 7 il TOHIY, K7+ 39 | WA e 19§, SEe
WHI A IerEi, W v =g w1 e mhe
(:III.J .

(1) 19,19, 20
(2) 19,20, 19
(3 20, 19, 19

]

UF TN F A A U g W e w0 W

(4) 39, 19, 38

(1) oy i &
(2) v TEEm g
(3) TETafTE v A
(4) s gEn

_—

16

@ Three containers A, B and C of equal volume

17.

contain hydrogen, oxygen and nitrogen
respectively at the same temperature and
pressure. The correct increasing order of their
masses will be :

(1) A<B<C
@ B<C<A

GA<C<B

(4 C<A<B :’
The nucleus of an atom consists of -

(1) protons and electrons

{2) protons, neutrons and electrons

(3) neutrons and electrons I

v(ﬁ‘,/prmons and neutrons S

18,

19.

20.

Positive ions are formed from the neutral atom
by the loss of :

(1) protons
(2) positrons

;{e)/electrons

(4) neutrons

L]

An element has atomic mass 39 and atomic
number 19, the number of electrons, protons and
neutrons in it will be respectively :

\9}/19. 19. 20

(2) 19,20, 19

(3) 20, 19, 19

The introduction of a neutron in the nucleus of an
atom would lead to a change in the -

(4) 39, 18, 39

(1) atomic number

\}2)/ atomic mass

(3) chemical nature

(4) number of electrons
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24.

s Tt T T § A A W W, WA E (2% Inthe periodic table, the size of atoms in a period

R

(1) o § =g § T e €
(2) TR =T

(3) TR wEwW €

(4) s H wem € fr aem ®

. it 30 F AT YT STATE € :

(1) TF FEEdST e FR
(2) T TrEEEES S B
(3) U= TrmewTs o4 5
(4) Taret st s BT e
(1) CaCl

(2) HO

(3) NH,CI

(4) CCl,
UEAR e H e €

(1) TTEETor o7/@=8 T & HRY
(2) HEwarSt STEH F WA

(3) *= WA % FR

(4) s TE % w
=197 7 Ters2 (lone pair of electrons) 317
ST e T €
(1) CO,#

(2) NH_

(3) BF.3 -

(4) H,O%

Fo AT IR SER O STt A s fea

(1) =Ry Frem W R e w

(2) ST T Tadad Warea &1 el

(3) T § Iei Tedrwl W oW W R
FTAOE

(4) sifsfrm =it e wEm W AR
FE

- e SRR PN WSl 8 ARk WAL

from left to right :
(1) initially increases and then decreases

\)25/ decreases regulariy

(3) increases regularly
(4) initially decreases and then

increases

22. The oxygen atoms in an oxygen molecule are
bonded with :
(1) asingle covalent bond 2
\(2)/21 double covalent bond
(3) atriple covalent bond

(4) no chemical bond

An example of a compound having both covalent

and ionic bond is :
Vmé{:[e

(@) HO
(3 NH.CI
(4) CCl,
@ Ethigol is miscible with water due to :
\ﬁ"ﬁydrogen bonding character

(2) covalent character

J;ﬂ/ polar character
(4) ionic character

25. Two lone pair of electrons and two bond pair of

electrons are presentin :
(1) CO,
) NH,
(@ BF,

\4r HO

@ The equilibrium constant in a reversible reaction

at a given temperature :
ﬁ‘oes not depend on the initial concentrations

(2) is not characteristic of the reaction

\_(Sy/depends on the concentration of the products
at equilibrium

(4) depends on initial concentration
of the reaction vy boad
4 \Ii -\ \




srfvaean £, oy sl St mrm 2w sm
1w feege T s

(1) =
(2) smn

(3) =iems

(4) = T

26. sfufam N, + O, + Fo0 == 2 NO &, NO F ==
STISIE TP

(1) =1 am m

(2) T W

(3) F= Tm T

]

(4) =1 zm m

29. i, A + B == AB, afk A %1 "z 3 7t

Tt o, o sifirfran at g Bl St

(1) &
(2) =
(3) =TI T

(4) 3ma :l

30. TETEE STMGRA A, I A =i T S

(1) sthipser ST IeaEl 1 = =97 o oIt

2) fatrﬂvrm“uf‘;mmﬁmmmr

(3) Tarvdia atfufirard = St €

(4) wﬁmw—mmﬁjz‘rmﬁ%
31. MEEN C+ H,0 — CO+H, HOFE =t :

(1) U= sTad=RT ®1 97E
(2) UF ITEEF F @

(@) =ri =t T

(4) Tt st mee et

18

27. feeit spmvi At sifufin & W WA (27) In a reversible chemical reaction having two

reactants in equilibrium, if concentrations of the
reactants are doubled, then the eguilibrium

constant will :

(1) alsobe doubled

@" become Y%

(#) become % =—— =

e

+ heal == 2 NO the

(4) remains the same

@ In the reaction, N, + O,
condition which will tavour the tormation of NO is

(1) lowtemperature
(2) hightemperature
{I)»/hl_qh pressure I’_—___l

—_——

@ In the reactions, A + B —= AR, if the
concentration of A is doubied, the rate of reaction

(4) low pressure

will :

(1) double

(2) increases to four times
remain uneffected

V\Jﬂiecrease to one-half :I

@ In a chemical reaction, when equilibrium is
established :

(1) concentrations of reactants and products are
equal

(2) velocities of opposing reactions are equal

(3) opposing reactions stop Y

J}J/a static equilibriurn is established

31. Inthe reaction, C+ H,0 — CO + H,HOactsas:
(1) anoxidising agent
) reducing agent

(3) both

(4) none

S/142 ED/O6-Gen. Sci. & Math~28



32. UF ATEET 9% 9o ®, 9
(1) Fer=gra Tevr = &
(2) T W R
(3) Wi TEW T €

(4) w2y W §

e

33. 9 UF IE 9 0T, W Gohe faer | gard) 9w 8,

FI9L TG B M E ¢

(1) CuSO,F s & Fro

(2) Cu? sl F I9=aa & TR
(3) Cu* IIFI F AT & FRO

(4) e SR F FRm

34, THA T ¥ 9 H T9E FH PR AE E

1 G,
@ H,
@ Ci,
(4) CO,

35, T¥AYH (amphoteric) SATEFTES =1 33w € :

(1) Na©
(2) Cud
(3) ZnO
(4) CaO

36. wEIE W Fan S Ut 9 el e HE

(1) wieEs
(2) fasim

(3) farca

(4) ==

37. (e SR FE T WA T
(1) ==
@) =

(8) =mm

(4) F

19

@A reducing agent is a substance which :

: accept electrons

A}e)/donate electrons

(3) accept protons | ff,
o i

(4) donate protons

33. When an iron rod is dipped in CuSO, solution,

copper is precipitated due to :
(1) ionisation of CuSO,
J}Y reduction of Cu® ions

(3) oxidation of Cu* ions

(4) aneutralisation reaction

(3% The gas Jeast soluble in water under similar

conditions, is :
(1) O,
@ H,
.(3) Cl,
(4) CO,
@ An example of amphoteric oxide is :
(1) Na,0
(2) CuO

37 zno

(4) CaD

Lo |

[ ]

@ The noble gas which is most abundant in the

universe is :

\f Helium

(2) Neon
(3) Krypton

(4) Xenon

@ The colour imparted to glass by Nickel Oxide is :

(1) blue
(@) green
(3) black

(4) purple




38. SO, % fom 3fam Ffefien ¢ _ @ A suitable drying agent for SO, is :

(1) Ca0 (1) ca0

(2) CaCl, - (2) CaCl

(3 PO, : (3 PO,

(4) A= H, SO, D (4) Conc. H,SO, D
39. W @ A T T AG H T W, T T u A 39. The green layer deposited on copper utensils when

vt v T attacked by moist air, consists of -

(1) Cu(OH), (1) Cu(OH)

2) CuO (@) CuO

(3) CucOo, (3) Cuco ‘-

(4) CUCO,. Cu(OH), :‘ v‘/ CuCO.. Cu(OH), | 1
40. T Weel v T4 v £, S el @uun metal s an alloy of lead and

(1) Sn (1) Sn T

(2) Cu @) Cu  Cog)

{3) As Il"‘————l (3} As 3¢ I———*—[

iy Zi | S | @ zn zmA | |

41, T = 37f2 = W e R, SHe) - 41. The great briliance of diamond is due (o

(1) a1t == v 7 \Q/_/ir being the hardest substance

(2) == sTEmET v (@) its high refractive index

(3) == 3.51 g cm % (3) its density being 3.51 g cm™ .

(4) Terem =1 FTeTE B J (4) being a bad conductor of electricity 1 i
42, Y AFE : 42. Dry ice is :

(1) atfa =1 am wr ok (1) ice at very low ternperature

(2} I"Cl, (2) solid CL

(3 3w CO, (3 solid CO,

(4) 3= S0, (4) solid SO, l ]
43. TR WS F whma (affinity) s @The affinity of carbon monoxide is larger for -

(1) atetom & wf \,(Af oxygen C

(2) Frerita & (2) haemoglobin co O

(3) W & af (3) -protons =2 :
(4) =EgE % Al (4) hydrogen - J } b 2
44. =HETTE AT 91 Ao 98] 6N | ug WA S5 @ Existence of a variety of a large number of organic

compounds is attributed to

T, TEA T

(1) ==7 g catenation

(2) TaETEm ‘TE.) isomerisim }

(3) F=T9mA UE FHTETEE ‘chatenatlon and isomerism \

(4) =T AT 1 wEEEre B l: (4) covalent nature of organic
. compounds

5




48.

45.

Il 1|
(2) CH,-~C-0-C-CH,

(3) CH, ~CH,-0-C,H,

°

CH=CH,

[ oy B
. CH,-CH=C-CH,~CH,~ CH, % =& &= 5@

5 AT WIHE] i
(1) 4

2) 5

3 6

(4) 7

CH, s Fist=a €

(1) Toumess
2) Ta=mima Giwres

(3) i
{4) e !:]

(1) CH,
(2) CH,

(3) CH,

(4) CH,

veA 7 F TAetele | 9 o
(1) e e

(2)

(3) e

(4) e sy

2 ]
\@/thene is formed by the e ydratlon oi-'

45. The functional group represented by

OH
I
-C=0is:

_g%:arboxylic acid

(2) ketone

(3) phenol

(4) alcohol

46. The formula for ethylethanoateis :
(@)

I
\/uy(Ha—c—o-czi—is
0 0

Il Il
() CH,—~C-0-C-CH,

‘ZJ“UJL ethansak
CHB cCOD C‘:.Hg

(8) CH,—CH,-0—-C,H,

i ]
.__.[ﬂ_gz}_'{s_c_OH

CH=CH, —

INCH, - CH= C’)—CH —CH,~CH, , the number of
carbon atoms in the fongest chaln Is:

(1) 4
25
&6

7. =]
.The shape of CH, molecule is represented by

(1) apyramidal H
@ atngonalb[pyramldaH .—-—C - M
(3) equilateral trigonal L‘ D

(4~ tetrahedral

49. Which one has the lowest percentage of
hydrogen ?
(1) CH,

V(;’)}-’ﬁ.
CH

(4) CH,

(1) ethylethanoate

¥ ethanol

(3) ethanal 2 |
4) ethanoic acid Na &
i H ' S heaiBiies
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amr - 1l ;
Sita famm
BIOLOGY

a7 1 e ol 2 AT (2 e e ol < M 1 o

(1) FpiFE
(2) R

(3) FrSeASIE

(4) Tag T (TsTTE Tm)
L LAl Al 10 e A LAY 13 2
(1) "Fisen
I': _E-r—_I—IT;
5§ IS 0

N
(4) T ;___J

bl 0= e M e M e 1 2 e 7 el

(1) Frrmmn

Part - Il

1D The evolutionary history of a group of organism

1s termed

V{’(J Taxonomy

(2) Systemalics

(3) Phylogeny

(4) Derived character

The classification calegory below the level ol
family 15 :

(11 Phylum

(?) Class

W Gans

\// e
(4) Species i

B £ 7 I e £ e B | T S TR e A 3 @ Which of the following protozoan lives in the gut

of termites and heip them digest cellulose
{1} Trypanosoma
(2) Plasmodium B

A3 Trichonympha

(4) srimEn (4) Amoeba i
B2 i 7 T 2o T 1 o ol o o e 1 Bl Natural Parthenogenesis occurs in :
e il

(1) F=en
(2) Wl

(3) iE 7, it =i

'r-'” -z‘h ’f-“ ’:_;i-’l ;.‘j.'-1 LA -Ef {

(1) =i

(2) =

(1) Earthworm
(2) Honey Bee

(3) Protozoans

(4) All insects

—

Fungifeeding on dead organic matter are known as -

\,(«ﬂ/ Saprophytes

(2) Parasiies

{3) Dimorphic

(4) All of the above




10.

)
Sh bR aari AL

P

%:
(1) st %=
(2) ¥,

(3) T HA

(4) T3 A
@mﬁtﬁﬁuﬁw(mm)m?ﬁﬁ.
T ¢

(1) o Sasi i w0

(2) T el W &

(3) wTEE T T FA

(4) wem A

. STEE T g €

(1) Sas e W9
(2) = WY

(3) it form g R

(4) iR H & ¢ el

T TR H, T I O WA

(1) maf==H
(2) feif=d

(3) AT

@) SHEaET

o Sa forae ST | Aeie e il € ¢

(1) TEmTE
(2) wow
(3) farEm

s e g for o & B, T T S B

4) =T

28

'6./In which of the following phases of cell cycle, the
DNA content becomes doubled :

(1) G, phase

(2) G,phase

(3) Sphase

(4) M phase

@ In monocots grafting is aimost impessible because
of :

(1) Lack of vascular bundle

(2) Lack of parenchymatous cells

(3) Lack of ground tissue

(4) Lack of cambium

" 8. Opium is an extract of :

p/ Unripe fruit of poppy plant

(1) Cannabis sativa plant

(2) Cocoa plant

(4) None of the above

(9) Coagulation of blood i the blood vessalis prevented
by :

(1) Prothrombin
(2) Hepann
(3) Plasminogen

(4) All of the above

@) An animal which has notochord through its life
is :

‘Sj«)’ Amphioxus

| (2 Fish

(3) Bird

(4) Snake

d
Ly

0 L

Tt il Pl - T -.- ﬁ'uli__u;-: n..rlz-l"' m
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1. frnioerss smfatfy arfrmm frems ot & . _ 11. Radial symmetry is often exhibitec by :

(1) TrArss? (S m=a o) (1) Echinoderms

(2) Heiza (e i) ' (2) Coslenterates

(3) zFi1 a2 ' ) (3) Both 1 and 2

(4) = =7 I 1 Mmm of the above l:
2. TR O TR TN o7 e e 12. Which is considered often dead when functioning :

(1) warstig (1) Epidermis

s P S g

JZ’ Sclerenchyma

(4) Parenchyma J

(1) M

13, 71 FateEn H i S A T TSI @ The chief enzyme found in the yeast cell is -
(1) = (1) Lipase
{2} TEETEa (2] Amvylase

(3) nr—== [ (3) Maltase

B =
(4) smTSy l ] (4) Zymase | 1

4. FreETEe T R R e e s 14, VWhich of the following does not bear any pigment
(1) === (1) Chloroplast
(2) wmrET= A8 Leucoplast

(3) FHETETE _ (3) Chromoplast
(4) =iy Tpdt l (4) Al of the above ]' I

15, Tr=Tieen | | w-8 wieni (e 93 aw) 5 15. Which of the following is/are seediess vascular

T _ plants :
(1) o= "E (1) Club mosses
(2) = (2) Ferns

(3) == == {3) -Horse tails
(4) =wrEm it (4) All of the above _ ‘

16, =T | W Hie (SRe) a9 T, a9 16. Coeiom derived from blastocoel is known as -
(1) w=rirETEm (1) Enterocoslom
(2) == \ (2) Pseudocoelom
(3) Fririe (3) Haemocoel

(4) wmz=EEA (4) Schizocoelom




17, e FAE €

(1) =

(2) e

(3) TawEEED

(4) Fr=Tea

18. Wﬁﬁ#—mﬁaﬁ#wﬁﬁéﬂ(gﬂwﬁﬁ)
R
(1) rwrHe
() =rarET
(3) vRrfeT 3T
(4) TERiEE T

10, TR TEA Fiew TR €

(1) Te== 9 (7w )
(2) wim FH
(3) = FH
(4) =%
20, T AT A ) FE E -
(1) HrEGEE
(2) #==
(3) =T
(4) ferrm
21, FETifEE | FE-T A CAE |

1) #rs;m
(2) TTYEE

(3) =T

(4) FTH
22. ﬁéﬂ%ﬂﬁfmmaﬁmfw}%:

(1) TS

(2) TrEErEEA
(3) TEETEH
(4) F5F

17. The jawless vertebrates are the members of :
(1) Agnatha
(2) Gnathostomata

| @ Cephalochordata

(4) Urochordata

18. Which of the following is not a water soluble
vitamin :

(1) Tocopherol
(2) Niacin
(3) Folic acid

(4) Ascorbic acid

19. Free living planaria isa:
(1) Round worm
(2) Tape worm

\ga( Flat worm

(4) Fluke

20. A multinucleate cell is called :
(1) Coenocyte
(2) Thallus
(3) Coenobium

(4) Synaptonema

21. Which of the following element is present in
chlorophyll :

(1) Nitrogen
(Zﬂﬂagnesium

(38) Copper

(4) Manganese
29 The site of Kreb Cyclein acell is :
(1) Mitochondria
(2) Cytoplasm
(3) Ribosome

(4) Nucleus : b <idhis
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T *7) et 1o st T £ 2 23. Endosmosis occurs when raisins are placed in
(1) sramem =m fr'if'r“l'-’FE- 4 U)/hvpr)tonf'c solution

(2) s1ivE mimm e - (2) hypertonic solution

(3} swsHET R faferm ) (3) Isotonic solution

(4) = D {(4) All of the above [ I
el {3l e T T 24. Double membrane is absent in -

(1) ==rmrisa (1) Mitochondria

(2) T== (?) Nugcleus

AN {3) Chloroplast

(3) ==
{
(4) =mzEmEm ’ %I VS0S0Mme
EEEEEE——

e

T S T W T (AR wst o A ) s 25. The points where two of the four chromatids cross
T T T, HEENE each other are known as -
(1) s (1) chromomeares
(\ s 21 chizasinata |
(3) F=mtars (3) centromere
N i I

i\ Ty | .
4) Kinetochore

L]

LR Lo R e o el Areolar fissue is a :
AMANS MATHS BLOGS.COM_

(1) di=T=Fr = (1) Nervous tissue

(2) ol S (2) Muscular tissue

(3) ==t Fow Connective tissue

(4) THEEEE S { i (4) Epithelial tissue

TER % i W, vE wiveg shE s o 27. Inwhittaker classification. unicellular organisms

T are grouped in :

(1) Fife= 5 Protista

(2) wFeH (2) Fungi

(3) W==en Mﬂrotozoa
(4) T=EH !:} (4) Algae

(1) =14 (7i=) (1) Starch

(2) == (2) Fat
(3) \2/ Glycogen

(4) TeEEE A T (4) Glycogen and fat

28. The reserve food in fungal cells is

L]




Lir
4

(1) =T A

() —’J.'r-’. =7

(3) woe T

(4) wfETa T
| et § W T G TR S B St

e

{

(1) f=mA T

(@) ferfe

(3) Toeme= =

(4) P

(1) F= TG

(2)

(3) =-=r

(4) =51

(1) Tezmier™

(2) 7=

(3) =rFen

(4) ArFTE

(1) =i

(2) FEETE SRS
(3) AAN-TRETE
(4) FrETTE TR

T3 =71 AT A0 g e S S % FeaTEa

Al

(1) @Az (F571)

-

HEFET

() e

(8) 7R
(4) am (F=)
i 7] TS

 FreteEa ® e T S wed s i e 2

sy FreretEa H W A A S 7

-~

29. Which of the following classes has largest number
of animals ?

(1} Mammals

‘)’Z{ Insects

(3) Pisces

(4) Amphibia

30. Blood capillaries can easily rupture due to
deficiency of :

m Vitamin A

(2) Vitamin B
(3) Vitamin C

(4) Vitamin D

31. Vector of Kalazaaris :
Y Sand fly
(2) House fly
(3) Tse-tse fly
(4) Mosquito

32. Which one of the following is not a fossil fuel ?

(1) Petroleum

Mranium

(3) Coal

(4) Natural gas

33. Living organisms are used in ;

\}yy/ QOrganic manure

(2) Natural Insecticide

(3) Bio-fertilizers

(4) Natural Pesticides

34. Plants can be made disease resistant by :

(1) Breeding
(2) Colchicine
Jﬁ{ Hormones

(4) Heat
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MITETY § ST ] Y72 e

(1)

(2) T

(3) =T

(4) =TT

izaile e Bl o 0 1 e i o
(1) TorRT=L

(2) TitemheTt

(3) "R

L]

TR S ) W W A §

Ay

.’I.‘ -:;1’.

(1) =

2) tram

F e\
(3} e

{(4) TETEETTT

. TSGR

(1) srizer =1 oot orfe
(2) o = SRy g
(3) w= iR = AUt H

(4) “Toit = YT B

(3) =FaaiwnH §
< N
[-‘.) T Z

(1) F=afemn

(2) =iierEn

"AMANS MATHS BLOGS.COM (4 Collenchyma

35. The Principal gereal crop of India 15
(1) Wheat
(2). Maize:

&31/“11.';{:

(4) Sorghum

o o

36. Growing fodder grasses with fruit trees is called
\yf Agroforestry
(2) Horticullure
(3) Agriculiure

ot

37 Thetungidisease causma maximum death of paouling
——

(4) Hortipasloral

() Ricicels
(3) Pulloritm
\';&A:;perg;iiiosm I[ r|
38. Ligament connects
b(};/aone with another bone
(2) A muscle with a bone
(3) A nerve with a muscle
(4) A muscle with & muscle

The living cells which provide tensile and
mechanical strength :

(1) Phloem
(2) Xylem
(3) Sclerenchyma
[ ]
40. Venus flower basket is the dried skeleton of -
(1) Euspongia

Spongilla

(3) Euplectelia

]

(4) Leucosolenia




| 1EX A.‘y‘il’.:: i

o1, G SRR TR T A TR FER E

(1) s
(2) =54
(3) FEIE=A
(4) =™
42, T gEE A R
(1) g e
(2) TwerE W
(3) Hew2rTR I
(4) TeTm T S ST
43. T T S A €
(1) W weH
(2) ™

(3) =" &N

(4) THETS

4. A T T T GREERS FE 3 awem (W) #®)

FEAE :
(1) giwevm
(2) Ziw=m
(3) ¥ 3= N
(4), =™
45. el e HUEAE
(1) T e
(2) Tiwen gfem
(3) Fafvmr satmrei =it sifire &9

(4) W =R = YR TS

41. Plants and animals living together in an area

form :
(1) Population

(2) Community

42. The Red Data Book contains a list of :

(1) Extinct plants
(2) Endangered plants

(3) Endangered animals

&)’ Endangered plants and animals

43. The Kanha National Park is located in :

(1) Uttar Pradesh
(2) Assam

Madhya Pradesh

(4) Tamil Nadu

44. Changes in DNA nucleotide sequence is known

as:
(1) Translation
(2) Transcription

(3) Gene Pool

\;ﬂ»)/ Mutation

45. Demography is the study of :
Population growth
(2) Family Pedigree

(8) Geography of different individuals

(4) Local concentration of individuals
Wl | | =] A |
gy Iy LT

b ia i i*:-
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A6, T aen ST STifaren = ‘If'd’fﬁ'm’iﬂ Frd ﬁﬁ. A physiological response to the duration of light

£ and darkness is a :

(1) arirenirmes rer, z ﬁiofngl‘cal clock

(2) TR . ‘ ﬁfmloperrodism

(3) TR from (3) Circadian rythm

(4) TR D (4) Daily phase cycle ' :}
AL ST SRR 6 T o e - 47. Sex linked Inheritance was discovered by :

(1) 7w Wxg}un
() sizw Mmdnl
(3} 7% =i ) (3) Me lung
0 e ! 1 (4) Johanson ! ;'
Sk T ST T SR 6 e e T A e 44, Acatylcholine 15 responsible for transmission of
nerve impulses through :

(1) =R (1) Dendrites
(2) T3 w1 (2) Cytons
(3) Tt (3) Axons
(4) swmm D A Synapse l:]
9. I MR F A T T T w5 A 49 The bas;c unit of vertebrate kidney -
| (1) TwHE #" Nephron
(2) == : (2) Neuron

(3) HETiTTE T _ (3) Malpighian tubule

|
(4) == =y l (4) Bowman's Capsule

! 507 i e S AT ot : 50. Polio Immunising vaccine was developed by
| (1) % 3 . (1) E.Jenner
g @) #Fzia (2) St.Hale

) (3) = Tew J8f Dr. Salk

|

: (4) d=xZrw (4) Landsteiner l ‘
't L} B IR L SR A
i bl ey : 31 pild ta'r:qﬁﬁ%tfuqb‘éw
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Part- IV
T
MATHEMATICS
Vo2 Toa s s Y g
32X ~3Y FpaES: . 1. Factorsof —X°——y° are:
( y]( YJ 1 [— _.___1_ JJ X J

”) /2 ‘/3 ﬁ 'VJ— ( ) /o \r"r:J; (\!2 ‘/5 y
@ (2"3\2" 3 @ (X 3Y ) 3% 3V
; r_’x_Ly][_Lx_ 1 f—‘—x—f—y]l{ix 1 ]
S WA Wi OB BINEHY

& X o5 X _ _p-1 :
T}X*B:‘- A X TR f x+3 - thenvalueof xis :
(1) 6 . ) o
=3 =
2 HS BLOGS.COM (3) =

3
(3 1 \53/1
@3 L1 s [
1 . 1 . 1 5 e
oy 8. If X+—=2_ then X—— will be :
X X

X X

(1) =1 (1) -1

2 0 \éza’o

3) 1 3) 1

(4) 4 @ 4

- i el 4. If y3=1782 and J5=2236, then value of
M f3=1732 70 J5=2236 T W =_z W A
i 1 SR o3 ¢

(1) 11.904 11.904

(@) 6.904 (2) 6.904

(3) 3.504 ' (3) 3.504

(4) 0.504 (4) 0.504

- T ’ - < 1
afz "=2—_—J§, MY —Ax+ 1T TAAT - 5. If X“m. then value of X* - 4x + 11 is :
(1) 10.268 (1) 10.268

(2) 10 10

6. If x=1-2 , then value of (K—;J will be ;
(1) 8
2 8+ /o
(3) 8- /2
4 3- 2

(2) B+ JE
@) 8- .2
4) 3- 2

(3) 0.732 l:] (3) 0.732 l:
(4) 0.268 (4) 0.268 5
& — S 1




16 2"" 42"
1Gu'?" ' .r}l|l1 "-ﬂ“: l “"'i

-

1zn

(1) 1441

122"

@ 175

-|hi‘l

~1 | na

-t

: 1 ;
=47 x2+;,; FAGET -

) = X~ B 8

Cx-4MmARQl) = 8- 1%
'f-’f"ﬂ'hl?. T ‘:h e_'i”'iu'. 7 o
107

07

1

. 4

b | [ 'I-‘t
X

(1) 235
(2) 12.85
<

@) G.85

m}

(2) b(1-b?%(1+a?

= =
(3) (a-b) (a2 ab+ b '
(4) (@a=b) (1 -a-ab-b? l

10. a-b-—a'+b’ FrmuE T .
(1) a(t —a?) (1 +b?
1. 7= & - g 0 (0, 0) %7 7en 5.5 Fow &

(1) (7.-1)
(2) (-5.5)
3 (5,-7)
@ (-1.7)
= . 2 Bl e .
12. T% FHIF0 U X-3G F YE 35 7 I
T X-3% F A4 TF 96 0@ | qE T E
(1) 2x+5=0
@ 2y+5=0
q 5
{ } Y=X= 2
g 5
@ y=x+7

32

2
2 e | -
1}()-( 2""»”—1&2"2 _
1‘6’}&2"/-‘({-’2‘.}:21”1 IS ©

12n
2=l

14n+ 1 ,
4

7. Simplification of

(1)

12x 2"
14x 2"+

"!-._[Im

N |

¥

8. II X' *-;1— 47 , the value of X:'+x2 is :
) 235 | x2a 1 |%
./VW ‘ b/
[4) €.85 7L 1 1-
9. MHx) = X'~ 6r = 23— 4 je diflided by g(x) =
then remainder will be -

}

s T
wX—= 1

107
27

@4 -7
10. The factorsofa—b - a-(gia are :

(1) a(1-a%(1+b? G =~ @L Q- kg)@

(@) b{1-b3{1+a?
(3) (a—b) {a?—— ab + b?)
(a=b) (1 ~a=ab- b?)
hich of the following points does not lie on a
circle whose centre is at O (0, 0) and radius is

52 :

() (7.-1) _

@ (5.9 W

CNCE I |
@ (1.7 ot

12. The graph of a equatlon is a line parallel to
x-axis at a dlslance 5 below it. That equation is :

(1) +5=0
M+5=0

@ y=x-

m]m |

(4 y=x+

ra
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3. sTETE A PQ | PS, PQ|I SRa® ZSQR = 28° a4 13. In the fig. PQ | PS, PQ || SR. If £Z8QR = 28°

ZQRT =65°%, @ XNy FHAE :

| 2) x=25° y=65

—

(3) x=28° y=62°

(3) x=28° y=62° .
(4) x=62° y=28° ’ (4) x=62°y=28°

P Q P Q
|| 3 ) +
28° 28°
) 3
65° 31 £ 65°
\ '
s R T S R T

14. sFEa@E LACD = 115° a1 AB = AC at £BAC =1 14. In fig. ZACD = 115° and AB = AC then £BAC

7 B will be :
(1) 75° (1) 75°
(2) 65° (2) 65°
(3) 60° y
(4) 50° 50°

A
115°
L —
B C D

SMA? FRiNMe_man Sl A Math 3
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| \

T 3 > i : - 3
Fit H-DE = P BC.DE || BC a1 DE st BC 15 In fig. DE = 2 BC, DE || BC and distance
2 S o e 1 R 1 ol = O 1 B B 2 1 ol helween DE and BC is 3 units. If BC is 6 unils. then

DRCE 1 #1re T - area of DBCE is

(1) Y.75 771 YI5re (1) 8.75 Sq. units
(2) 13 5 7 orEE (2) 13.5 Sq. units

(3) 1475 a0 arrE ‘/l'3+1/5?7 Sq. units
(4) 185 7 A | J (4] 18.5 5q. units

|
v AN\
N \
‘\\ .'\_
NS N
1 | \ E _ \\ = ; / 3
= \" Bi——=\F X
| A\ A L
\ 2 e o=
| \ .
| - \ \ .
C g c 15,6 x 3 x|
= .
52 §
or e e S e NS Sl
APEM N QO Ju T 4% & o9 £DAB = 50" & x5 i6. I lg. G is cenire of circle and ZDAR —g;U‘ then
i w1 value of x will be

(2) 100"

3) 80"

(4) 50

(1) 13C°

\)2;/1 00°

(3) 80°

(4) 50°

N
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17. TEEA'50% + 30% " g2 F um mw A 900 5,
I & {o10 3T e w2 :
(1) 280%
) 315%.
(3) 350%.

L]

18. . & HEASH] 7 3T 3 - 1 & e ST 4 28 ¥ 1 S
I 39 w0 % fom gwd wen ¥ gf st

i
(1) 28
(2) 35
(3 56

(4) 450

(4) 84 D

19. =M UF AR A0 e o se 5. A5 awn
ﬁgﬁ%ﬁ.ﬁr.%%mﬁm’if%aﬁ.ﬁ.wéﬁﬁm
TR U & 991 9 =R R U e A e S | v
STHAAE

(1) 16128 97 4. #t.
(2) 1152057 F, =,
(3) 8960 =7 . =i,

(4) 6400 = =, . l:]

20. hﬂﬁwﬁa&raﬁmﬁmﬁmﬁmw%:m.z?,
*28. 31, 34, x, 37, 40, 42, 45 7fe Tayol =t miite
ST XFARE ¢

(1) 37
(2) 36
(3 35

[ ]

21 X F THH A 0 Jh w agew 7 E

(4) 34

3.5.6,7.54,.7,5,6,x,8,7:

(1) 5

6
B 7
8

]

35

17. A customer have to pay for a shirt with list price
Rs. 900 in a sale "50% + 30%" off -

(1) Rs. 280
\_(Qj/és.:i‘IS 3

(3) Rs.350 |p X 1P |

(4) Rs.450 b l:’

18. Two numbers are in the ratio 3 : 1 and their sum
is 28. In order to get the ratio 1 : 3, the second
number have to be increased by :

(1) 28
=54

@ 35 B

NE 2 B

R

19. A metallic sheet, rectangular in shape is 56 cm
long and 36 cm broad. From each of its corners,
a square of side 8 cm is cut off and an open box
is made of remaining sheet. The volume of this
box is : 56
(1) 16128 Sq. cm.

20

(@) 11520 Sq. cm.

(3) 8960 Sq. cm. —

L |

20. The following data has been arranged in ascend-
ing order ; 24, 27,28, 31,34, x, 37 40, 42, 45,
If the median of data is 35, then x is -

(1) 37 ELT RS
@) 35

o o Laroid

21. The value of x so that mode of data is 7 -
35@?547a@x87
(1) 5
(2) 6

Y

(4) 8

14



13 9P e 14 Tl s 7 Regon s e 1 aen 2
7 EIT T MY 16 T W 7E] AT -

ARG

R p e eI rd [ A

T TS S, T A i T

TRl SR HE fa S e T

Teatt o1 Ao 9 x &

' .
‘ J (4) For any real number x, ¥* = 0 !

34 ~—|——r7—-r—t1.‘: I\l‘f ri‘l'] T{'ia'r'p ﬂ—'JII'TI’f |TT

na

The mean of 13 observations is 14. If the mean
of lirst 7 observalions is 12 and that of last 7
observalions is 16, then 7th ohservation is :

(1) 12 |8 2-

1 -
54

i 1a 1 g4
| @ 16 ]

23. Which of the following statements is nol true

(1) Arhombus is also a parallelogram

MAI:‘ prime numbers are odd

(3) In an equilateral triangle, a median is also

gl e skl g ok e A AR il s i

an angle biseclor

24. Inacyclic guadrilateral ABCD if m2A = 3 (m£C)
then m.A is

1) 45° J
(2) 75° 'k
(3) 135°
[ (4) 145°
i roTt—a
25. The value of g is :

(1) 0
(2) 2

(3 2(37)

v(d) 7(127)

|

o

"\‘é
N1

\\\
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